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                                                                               Text 1

                                                                         Minimum Wage

           The national minimum wage will rise to 5.73 pounds an hour in October, Prime Minister Gordon Brown has announced. It will rise by 3.8%.


The government said that one million people would benefit from the increase,  two-thirds of whom would be women. According to Brown the minimum wage went up 60 % since the policy was introduced by the government in 1999. Once the original level when the minimum wage was launched was 3.60 pounds an hour. It was last increased in October 2007.


Business secretary John Hutton said: “The national minimum wage remains one of the most important rights introduced by the government in the last decade. Before it was introduced, some workers could expect to be paid as little as 35 pence an hour. Our legislation has ensured that can no longer happen.”


“I am proud of the minimum wage. It makes a real difference to the lives of many of our lowest-paid workers and protects them from exploitation. It also creates a level playing field for business and boosts the economy.”

                                                                                                                                          ( BBC News, March 2008)

Instrução: As questões de números 01, 02, 03 e 04 estão relacionadas com o texto acima.

1. What does the text mainly discuss?

a) The minimum wage policy.

b) The increase of the minimum wage and its benefits.

c) The women and the minimum wage.

d) The workers have been exploited.

e) The rights of the workers.

2. The passage supports the following statements EXCEPT

a) Mainly the women will benefit from the rise of the minimum wage.

b) The minimum wage is one of the most important rights introduced by the government.

c) The minimum wage policy was introduced in 2007.

d) The minimum wage will protect the workers from exploitation.

e) The original minimum wage was 3.60 pounds an hour.

3. The pronoun “them”, line 11, refers to

a) lowest-paid workers.

b) lives.

c) business.

d) exploitation.

e) remains.

4. The verb “boosts”, in line 11, is closest in meaning to

a) improves.

b) moves.

c) acts.

d) decides.

e) decreases.

                                                                            Text 2

                                                             The memory structures


Psychologists who study information processing have identified and described several memory structures that clarify how our memory works. They include the sensory register, short-term memory and long-term memory. Each structure varies as to how much information it can hold and for how long. 


A description of how human process information typically begins with environmental stimuli. Our sense receptors are constantly stimulated by visual, tactile, auditory, olfactory, and gustatory stimuli. These experiences are initially recorded in the sensory register, so named because information is thought to be encoded there in the same form in which it was perceived. The purpose of the sensory register is to hold information one to three seconds. Information not recognized or otherwise selected by us disappears from the system. The sensory register can hold about twelve items of information at a time. Typists make extensive use of the sensory register in order to remember words just long enough to get them typed. If no further processing takes place, a typist’s ability to recall that information later is minimal. Similarly, most of us have had the experience of reading an entire page of text, only to discover when we got to the bottom  of the page we could not say anything about it except that we had indeed “read” every word.


Once information has been recognized as meaningful, it is sent to short-term memory. In this case, short-term is approximately 20 seconds. While this may be surprising, it can easily be demonstrated. If you were asked to dial an unfamiliar phone number, received a busy signal, and were then distracted by something or someone else for 15 to 20 seconds, chances are you would have forgotten the number at that point. Short-term memory is often referred to as “working” memory.


Most cognitive psychologists believe that the storage capacity of long-term memory is unlimited and contains a permanent record of everything an individual has learned and experienced. Information is encoded there to enhance its meaningfulness and organization so that it can be easily retrieved when necessary.

                                                                                                                                             (DELTA’S TOEFL, USA)

5. What is the purpose of the text?

a) To describe the short-term memory.

b) To describe the sensory register.

c) To compare short-term and long-term memory.

d) To explain our difficulty to store information.

e) To explain how our memory processes information.

6. According to the text typists are unable to recall information they type if

a) they do not recognize it as meaningful enough to remember.

b) they are distracted by someone or by something.

c) they are bored.

d) they have too much work to be able to store it all.

e) they have a processing problem.

7. Which of the following would be most easily retrieved from long-term memory?

a) A wrong telephone number we dialed.

b) The face of a strange we met on a street.

c) The people we met in a meeting.

d) Voices from the background of a TV show.

e) The birth date of our child.

8. The pronoun “they”, in line 2, refers to

a) information.

b) psychologists.

c) memory structures.

d) works.

e) stimuli.

9. According to the passage, which type of information is sent to short-term memory?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

10. The word “capacity”, in line 19, is closest in meaning to

a) interest.

b) time.

c) place.

d) size.

e) quality.










